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N.B.: (1) Question No. 1 is compulsory.
(2) Solve any three questions out of remaining.

(3) Assume suitable data if required.

(4) All questions carry equal marks.
1. (a) Draw the graph from given incidence matrix and calculate total number 5
of possible trees.
o0 01 1 1
A=l 11 -10 0 -1
10 10 -1 0]

| (b) Findv, by nodal analysis et ;
; 5
(d) Test whether ihe given polynomial is Hurwitz 5

(P(s) = s* + 53 + 6s* + 4s + 24

| 2. (a) Find condition cf reciprocity and symmetry for open circuit impedance 10

¥ parameter.
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(b) The oriented graph of a network is shown in figure. |
Write (i) incidence matrix (i1) f - cutet matrix (iii) f - tieset matrix.

d hence find Y pafamct’érs.-
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(b) Find il (o%), 12 (o™, Ve (0+)’ —dltL

4. (a) State and prove maximuri: bowcr transfer theorem.
(b) Explain significance of initial conditions.

(s+2) (38+3)
s(s+4) (s+6)

5. (a) YO)=

Synthesize using cauer - I and cauer II form
(b) Test wneter following functions are P.R.Y.

3

s + 5s
Ny Y{(8)=
(i) () 544-252-5-1
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(i) FG)=- — —
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(0") wheur tiie switch 1s closed att=10.
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6. (a) Using Mesh Analysis find Vx 10
' 8V e
. o2 | + - y
o Vx
20V e oA @ X > 4 i) <
(b) el In=0 10
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Find v, an L
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